


 

 

 

 

 

 

𝑋𝑠𝑐𝑜𝑟𝑒 = −4,336 − 4,513𝐴 + 5,679𝐵 − 0,004𝐶



 

 

 

𝐴

𝐵

𝐶

𝑋𝑠𝑐𝑜𝑟𝑒 𝑋𝑠𝑐𝑜𝑟𝑒 < 0
𝑋𝑠𝑐𝑜𝑟𝑒 ≥ 0

 

 

 



 

 

 

 

 

𝐾(�⃗�𝑖 , �⃗�𝑗) = �⃗�𝑖
𝑇 . �⃗�𝑗

𝐾(�⃗�𝑖 , �⃗�𝑗) = 𝑒𝑥𝑝 (−
||�⃗�𝑖 − �⃗�𝑗||

2

2𝜎2
) ; 𝛾 =

1

2𝜎2



 

 

 

𝑥𝑘𝑛𝑛 = 𝑑(𝑋3𝑗 , 𝑋1𝑗) = √(𝑥31 − 𝑥11)2 + ⋯ + (𝑥𝑖𝑗 − 𝑦𝑖𝑗)
2

𝑥𝑠𝑦𝑛 = 𝑥𝑖 + (𝑥𝑘𝑛𝑛 − 𝑥𝑖)𝛿

𝑥𝑠𝑦𝑛

𝑥𝑖

𝑥𝑘𝑛𝑛

𝛿

𝜙𝑖 = ∑
|𝑆|!(|𝑁|−|𝑆|−1)!

|𝑁|!
(𝜐(𝑆 ∪ {𝑖}) − 𝜐(𝑆))𝑆⊆𝑁{𝑖}

𝑁
𝑆 𝑁 𝑖
𝜐(𝑆) 𝑆



 

 

Klasifikasi 
awal 

SMOTE 

ANN 

SVM 

Pemilihan 
model terbaik 

Kontribusi 
variabel 

Perancangan 
Aplikasi 

Kesimpulan dan 
Saran 



 

 

 

 

83; 90%

8; 10%

NFD FD



 

 

 

83; 
50%

83; 
50%

NFD FD



 

 

 

𝐶 = 0,25 𝛾 = 0,01

𝐶 = 0,25 𝛾 = 1
𝐶 = 0,5 𝛾 = 0,01
𝐶 = 0,5 𝛾 = 1

𝑪 = 𝟏 𝜸 = 𝟎, 𝟎𝟏
𝐶 = 1 𝛾 = 1

𝐶 = 1 𝛾 = 0,01
𝐶 = 1 𝛾 = 1



 

 

https://its.id/m/dashboardfinancialdistress


 

 

 

 

 



 

 


